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Abstract – A solution to the 6th millenium problem, respect to breakdown of 

Navier-Stokes solutions and the bounded energy. We have proved that there are 

initial velocities 𝑢0(𝑥) and forces 𝑓(𝑥, 𝑡) such that there is no physically reasonable 

solution to the Navier-Stokes equations for 𝑡 > 0, which corresponds to the case 

(C) of the problem relating to Navier-Stokes equations available on the website of 

the Clay Institute.  
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§ 1 

 The simplest way I see to prove the breakdown solutions of Navier-Stokes 

equations, following the described in [1], refers to the condition of bounded 

energy, the finiteness of the integral of the squared velocity of the fluid in the 

whole space. 

 We can certainly construct solutions for 

(1) 
𝜕𝑢𝑖

𝜕𝑡
+ ∑ 𝑢𝑗

𝜕𝑢𝑖

𝜕𝑥𝑗
=  ∇2𝑢𝑖 −

𝜕𝑝

𝜕𝑥𝑖
+ 𝑓𝑖 ,3

𝑗=1  1 ≤ 𝑖 ≤ 3, 

that obey the condition of divergence-free to the velocity (continuity equation to 

the constant mass density), 

(2) 𝑑𝑖𝑣 𝑢 ≡ ∇ ∙ 𝑢 = ∑
𝜕𝑢𝑖

𝜕𝑥𝑖

3
𝑖=1 = 0,           (incompressible fluids) 

and the initial condition 

(3) 𝑢(𝑥, 0) = 𝑢0(𝑥), 

where 𝑢𝑖, 𝑝,  𝑓𝑖  are functions of the position 𝑥 ∈ ℝ3 and the time 𝑡 ≥ 0, 𝑡 ∈ ℝ. The 

constant  ≥ 0 is the viscosity coefficient, p represents the pressure and 

𝑢 = (𝑢1, 𝑢2, 𝑢3) is the fluid velocity, measured in the position 𝑥 and time 𝑡, with 

∇2 = ∇ ∙ ∇ = ∑
∂2

∂xi
2

3
i=1 . The function 𝑓 = (𝑓1, 𝑓2, 𝑓3) has the dimension as acceleration 

or force per mass unit, but we will keep on naming this vector and its components 

by the generic name of force, such as used in [1]. It’s the externally applied force to 

the fluid, for example, gravity. 
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 The functions 𝑢0(𝑥) and 𝑓(𝑥, 𝑡) must obey, respectively, 

(4) |𝜕𝑥
𝛼𝑢0(𝑥)| ≤ 𝐶𝛼𝐾(1 + |𝑥|)−𝐾  on ℝ3, for any 𝛼 ∈ ℕ0

3 and 𝐾 ∈ ℝ, 

and 

(5) |𝜕𝑥
𝛼𝜕𝑡

𝑚𝑓(𝑥, 𝑡)| ≤ 𝐶𝛼𝑚𝐾(1 + |𝑥| + 𝑡)−𝐾  on ℝ3 × [0, ∞), for any 𝛼 ∈ ℕ0
3, 

𝑚 ∈ ℕ0 and 𝐾 ∈ ℝ, 

with ℕ0 = {0,1,2,3, … } (derivatives of order zero does not change the value of 

function), and a solution (𝑝, 𝑢) from (1) to be considered physically reasonable 

must be continuous and have all the derivatives, of infinite orders, also continuous 

(smooth), i.e., 

(6) 𝑝, 𝑢 ∈ 𝐶∞(ℝ3 × [0, ∞)). 

 Given an initial velocity 𝑢0 of 𝐶∞ class, divergence-free (∇ ∙ 𝑢0 = 0) on ℝ3 

and an external forces field 𝑓 also 𝐶∞ class on ℝ3 × [0, ∞), we want, for that a 

solution to be physically reasonable, beyond the validity of (6), that 𝑢(𝑥, 𝑡) does 

not diverge to |𝑥| → ∞ and satisfy the bounded energy condition, i.e., 

(7) ∫ |𝑢(𝑥, 𝑡)|2𝑑𝑥 < 𝐶,
ℝ3  for all 𝑡 ≥ 0. 

 We see that every condition above, from (1) to (7), need to be obeyed to get 

a solution (𝑝, 𝑢) considered physically reasonable, however, to get the breakdown 

solutions, (1), (2), (3), (6) or (7) could not be satisfied to some 𝑡 ≥ 0, in some 

position 𝑥 ∈ ℝ3, still maintaining (4) and (5) validity. 

 A way to make this situation (breakdown) happens is when (1) have no 

possible solution to the pressure  𝑝(𝑥, 𝑡), when the vector field 𝜙: ℝ3 × [0, ∞) → ℝ3 

in 

(8) ∇𝑝 = 𝜈 ∇2𝑢 −
𝜕𝑢

𝜕𝑡
− (𝑢 ∙ ∇)𝑢 + 𝑓 = 𝜙 

is not gradient, not conservative, in at least one (𝑥, 𝑡) ∈ ℝ3 × [0, ∞). In this case, to 

𝜙 = (𝜙1, 𝜙2 , 𝜙3) not to be gradient, it must be 

(9) 
𝜕𝜙𝑖

𝜕𝑥𝑗
≠

𝜕𝜙𝑗

𝜕𝑥𝑖
, 𝑖 ≠ 𝑗, 

to some pair (𝑖, 𝑗), 1 ≤ 𝑖, 𝑗 ≤ 3, 𝑥 ∈ ℝ3 and time 𝑡 not negative (for details check,  

for example, Apostol[2], chapter 10). 

 If we admit, however, that (1) has a possible (𝑝, 𝑢) solution and this also 

obey (2), (3) and (6), the initial condition 𝑢0(𝑥) verifies (2) and (4), the external 

force 𝑓(𝑥, 𝑡) verifies (5) and both 𝑢0(𝑥) and 𝑓(𝑥, 𝑡) are 𝐶∞ class, we can try get a 
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breakdown solutions in 𝑡 ≥ 0 violating the condition (7) (bounded energy), i.e., 

choosing 𝑢0(𝑥) or 𝑢(𝑥, 𝑡) that also obey to 

(10) ∫ |𝑢(𝑥, 𝑡)|2𝑑𝑥 → ∞
ℝ3 , for some 𝑡 ≥ 0. 

 The official description of the problem to this (C) case of breakdown 

solutions is given below: 

(C) Breakdown solutions of Navier-Stokes on ℝ𝟑. Take  > 0 and 𝑛 = 3. Then there 

exist a smooth and divergence-free vector field 𝑢0(𝑥) on ℝ3 and a smooth external 

force 𝑓(𝑥, 𝑡) on ℝ3 × [0, ∞) satisfying 

(4) |𝜕𝑥
𝛼𝑢0(𝑥)| ≤ 𝐶𝛼𝐾(1 + |𝑥|)−𝐾 on ℝ3, ∀𝛼, 𝐾,  

and 

(5) |𝜕𝑥
𝛼𝜕𝑡

𝑚𝑓(𝑥, 𝑡)| ≤ 𝐶𝛼𝑚𝐾(1 + |𝑥| + 𝑡)−𝐾 on ℝ3 × [0, ∞), ∀𝛼, 𝑚, 𝐾,  

for which there exist no solutions (𝑝, 𝑢) of (1), (2), (3), (6), (7) on ℝ3 × [0, ∞). 

 

 It’s clear to see that we can solve this problem searching valid velocities 

which the integral of its square in all space ℝ3 is infinite, or also, as shown in (8), 

searching functions 𝜙 non gradients, where the pressure  𝑝 won’t be considered a 

potential function to some instant 𝑡 ≥ 0. We understand that the 𝛼, 𝑚 shown in (4) 

and (5) just make sense to |𝛼|, 𝑚 ∈ {0, 1, 2, 3, 4, … } and the negatives 𝐾 can be 

ignored, because it does not limit the value of the functions 𝑢0, 𝑓 and its derivatives 

when |𝑥| → ∞ or  𝑡 → ∞, with 𝐶𝛼𝐾, 𝐶𝛼𝑚𝐾 > 0. 

§ 2 

 The inequation (4) brings implicitly that 𝑢0(𝑥) must belong to the vectorial 

space of rapidly decreasing functions, which tend to zero for |𝑥| → ∞, known as 

Schwartz space, 𝑆(ℝ3), named after the French mathematician Laurent Schwartz 

(1915-2002) which studied it [3]. These functions and its derivatives of all orders 

are continuous (𝐶∞) and decrease faster than the inverse of any polynomial, such 

that 

 

(11)  lim|𝑥|→∞|𝑥|𝑘𝐷𝛼𝜑(𝑥) = 0 

 

for all 𝛼 = (𝛼1, … , 𝛼𝑛), 𝛼𝑖 non negative integer, and all integer 𝑘 ≥ 0. 𝛼 is a multi-

index, with the convention 

 

(12)  𝐷𝛼 =
𝜕|𝛼|

𝜕𝑥1

𝛼1  … 𝜕𝑥𝑛

𝛼𝑛 , |𝛼| = 𝛼1 + ⋯ + 𝛼𝑛, 𝛼𝑖 ∈ {0, 1, 2, … }.   
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𝐷0 is the operator identity, 𝐷𝛼  is a differential operator. An example of function of 

this space is 𝑢(𝑥) = 𝑃(𝑥)𝑒−|𝑥|2
, where 𝑃(𝑥) is a polynomial function.  

 The following properties are valid [4]:      

1) 𝑆(ℝ𝑛) is a vector space; it is closed under linear combinations. 

2) 𝑆(ℝ𝑛) is an algebra; the product of functions in 𝑆(ℝ𝑛) also belongs to 𝑆(ℝ𝑛) 

(this follows from Leibniz’ formula for derivatives of products). 

3) 𝑆(ℝ𝑛) is closed under multiplication by polinomials, althrough polynomials are 

not in 𝑆. 

4) 𝑆(ℝ𝑛) is closed under differentiation. 

5) 𝑆(ℝ𝑛) is closed under translations and multiplication by complex exponentials  

(𝑒𝑖𝑥∙𝜉). 

6) 𝑆(ℝ𝑛) functions are integrable: ∫ |𝑓(𝑥)|𝑑𝑥 < ∞
ℝ𝑛  for 𝑓 ∈ 𝑆(ℝ𝑛). This follows 

from the fact that |𝑓(𝑥)| ≤ 𝑀(1 + |𝑥|)−(𝑛+1) and, using polar coordinates, 

∫ (1 + |𝑥|)−(𝑛+1)𝑑𝑥 =
ℝ𝑛 𝐶 ∫ (1 + 𝑟)−𝑛−1 𝑟𝑛−1𝑑𝑟 < ∞

∞

0
, i.e., the function |𝑓| 

decreases like 𝑟−2 (and (1 + 𝑟)−2) at infinity and a finite integral is produced.   

 By 𝑆(ℝ3) definition and previous properties we see that, as 𝑢0(𝑥) ∈ 𝑆(ℝ3), 

then ∫ |𝑢0(𝑥)|𝑑𝑥
ℝ3 ≤ ∫ 𝑀(1 + |𝑥|)−4𝑑𝑥

ℝ3 ≤ 𝐶 ∫ (1 + 𝑟)−2 𝑑𝑟 < ∞
∞

0
 and squared 

|𝑢0(𝑥)| and 𝑀(1 + |𝑥|)−4  we come to the inequality∫ |𝑢0(𝑥)|2𝑑𝑥 < ∞
ℝ3 , that 

contradicts (10).    

 Another way to check this is that the set  𝑆(ℝ𝑛) it is contained in 𝐿𝑝(ℝ𝑛) for 

all 𝑝, 1 ≤ 𝑝 < ∞ ([5]-[9]), and in particular for 𝑝 = 2 and 𝑛 = 3 follows the 

finiteness of ∫ |𝑢0(𝑥)|2𝑑𝑥
ℝ3 .  

 Therefore, if the condition (7) is disobeyed, as we propose in this article, 

will be for 𝑡 > 0, for example, finding some function 𝑢(𝑥, 𝑡) like 𝑢0(𝑥)𝑣(𝑥, 𝑡),

𝑣(𝑥, 0) = 1, or 𝑢0(𝑥) + 𝑣(𝑥, 𝑡), 𝑣(𝑥, 0) = 0, with ∫ |𝑣(𝑥, 𝑡)|2𝑑𝑥
ℝ3 → ∞ and 

∫ |𝑢(𝑥, 𝑡)|2𝑑𝑥
ℝ3 → ∞.  

§ 3 

 Really, choosing 𝑢0(𝑥) ∈ 𝑆(ℝ3) and 𝑓(𝑥, 𝑡) ∈ 𝑆(ℝ3 × [0, ∞)), obeying this 

way (4) and (5), remembering that we do not need have 𝑢, 𝑝 ∈ 𝑆(ℝ3 × [0, ∞)) as a 

solution, but only 𝑢, 𝑝 ∈ 𝐶∞(ℝ3 × [0, ∞)), then it is possible to build a solution to 

the speed like 𝑢(𝑥, 𝑡) = 𝑢0(𝑥)𝑒−𝑡 + 𝑣(𝑡), with 𝑣(0) = 0, such that 

∫ |𝑢(𝑥, 𝑡)|2𝑑𝑥
ℝ3 → ∞, because when ∫ [|𝑢0(𝑥)|2𝑒−𝑡 + 2𝑢0(𝑥) ∙ 𝑣(𝑡)]𝑑𝑥

ℝ3 ≥ 0, for 

example, when each component of 𝑢0(𝑥) has the same sign of the respective 
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component of 𝑣(𝑡) or the product between them is zero or ∫ 𝑢0(𝑥) ∙ 𝑣(𝑡)𝑑𝑥
ℝ3 ≥ 0, 

we will have  ∫ |𝑢(𝑥, 𝑡)|2𝑑𝑥
ℝ3 ≥ ∫ |𝑣(𝑡)|2𝑑𝑥

ℝ3 = |𝑣(𝑡)|2 ∫ 𝑑𝑥 → ∞
ℝ3 , with 𝑣(𝑡) ≠ 0,  

𝑡 > 0. We must also choose  𝑢, 𝑢0 such that  ∇ ∙ 𝑢 = ∇ ∙ 𝑢0 = 0. 

 In particular, we choose, for 1 ≤ 𝑖 ≤ 3,   

  

(13.1)  𝑢0(𝑥) = 𝑒−(𝑥1
2+𝑥2

2+𝑥3
2)(𝑥2𝑥3, 𝑥1𝑥3, −2𝑥1𝑥2), 

(13.2)  𝑣𝑖(𝑡) = 𝑤(𝑡) = 𝑒−𝑡(1 − 𝑒−𝑡), 

(13.3)  𝑢𝑖(𝑥, 𝑡) = 𝑢𝑖
0(𝑥)𝑒−𝑡 + 𝑣𝑖(𝑡), 

(13.4)  𝑓𝑖(𝑥, 𝑡) = (−𝑢𝑖
0 + 𝑒−𝑡 ∑ 𝑢𝑗

0 𝜕𝑢𝑖
0

𝜕𝑥𝑗
+ ∑ 𝑣𝑗

3
𝑗=1

3
𝑗=1

𝜕𝑢𝑖
0

𝜕𝑥𝑗
− 𝜈∇2𝑢𝑖

0) 𝑒−𝑡, 

                 

which results to  𝑝(𝑥, 𝑡), as the only unknown dependent variable yet to be 

determined,  

 

(14)  ∇𝑝 +
𝜕𝑣

𝜕𝑡
= 0, 

 

and then 

 

(15)   𝑝(𝑥, 𝑡) = −
𝑑𝑤

𝑑𝑡
(𝑥1 + 𝑥2 + 𝑥3) + 𝜃(𝑡). 

 

The resulting pressure has a general time dependence 𝜃(𝑡), should be class 

𝐶∞([0, ∞)) and we can assume limited, and diverges at infinity (|𝑥| → ∞), but 

tends to zero at all space with the increased time (unless possibly 𝜃(𝑡)), due to the 

factor 𝑒−𝑡 that appears in the derivative of 𝑤(𝑡), 

 

(16)  
𝑑𝑤

𝑑𝑡
= 𝑒−𝑡(2𝑒−𝑡 − 1). 

 

 In this example ∫ 𝑢0(𝑥) ∙ 𝑣(𝑡)𝑑𝑥
ℝ3 = 0, and so ∫ |𝑢(𝑥, 𝑡)|2𝑑𝑥

ℝ3 → ∞ for 𝑡 > 0, 

as we wanted. Simpler it would be to choose 𝑢0(𝑥) = 0.  

 Interesting to note that there is no discontinuity in velocity, no singularity 

(divergence: |𝑢| → ∞), however diverges the total kinetic energy in the whole 

space, ∫ |𝑢|2
ℝ3 𝑑𝑥 → ∞. We had as input data 𝑢0 ∈ 𝐿2(ℝ3), 𝑓 ∈ 𝐿2(ℝ3 × [0, ∞)), but 

the solution 𝑢 ∉ 𝐿2(ℝ3 × [0, ∞)), as 𝑝 ∉ 𝐿2(ℝ3 × [0, ∞)). 

§ 4 

 Our example obey the necessary conditions of divergence-free (∇ ∙ 𝑢0 = 0), 

smoothness (𝐶∞) and partial derivatives of  𝑢0 and 𝑓 of 𝐶𝛼𝐾(1 + |𝑥|)−𝐾 and 

𝐶𝛼𝑚𝐾(1 + |𝑥| + 𝑡)−𝐾 order, respectively. We conclude that we must have 

𝑢0 ∈ 𝑆(ℝ3) and 𝑓 ∈ 𝑆(ℝ3 × [0, ∞)). To each possible 𝑢(𝑥, 𝑡) so that (3) is true, the 

external force 𝑓(𝑥, 𝑡) and the pressure 𝑝(𝑥, 𝑡) can be fittingly constructed, in 𝐶∞ 
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class, verifying (8), and in a way to satisfy all the necessary conditions, finding, this 

way, a possible solution to (1), (2), (3), (4), (5) and (6), and only (7) wouldn’t be 

satisfied, for 𝑡 > 0, according to (10). We then show one example of breakdown 

solutions to case (C) of this millennium problem. This example, however, won’t 

take to case (A) from [1], of existing and smoothness of solutions, because it 

violates (7) (case (A) also impose a null external force, 𝑓 = 0). 

 An overview of the problem’s conditions is listed below (: ℝ3 and 

: ℝ3 × [0, ∞) representing the respective functions domains). 

 

 

 

 

 

 

 

 

 

 

 

 

 

 It’s important that we also analyse the solution’s uniqueness question. As 

𝑢0(𝑥) and 𝑓(𝑥, 𝑡) are given of 𝐶∞ class, chosen by us, and satisfying (4) and (5), i.e., 

belonging to the Schwartz space, with ∇ ∙ 𝑢0 = 0, claim that there is no solution 

(𝑝, 𝑢) to the system (1), (2), (3), (6) and (7) might assume that we explored, or 

proved to, the infinite possible combinations of 𝑝 and 𝑢, i.e., of (𝑝, 𝑢). So we need 

that exists uniqueness of solution for the speed that we build, eliminating other 

possible speeds for the same data used, 𝑢0(𝑥) and 𝑓(𝑥, 𝑡), and involving in finite 

total kinetic energy. 

 The uniqueness of the solution (except due the pressure 𝑝(𝑥, 𝑡) with 

constant additional term or time-dependent) comes from classical results already 

known, for example described in the mentioned article of Fefferman [1]: the 

system of Navier-Stokes equations (1), (2), (3) it has unique solution for all 𝑡 ≥ 0 

or only for a finite time interval [0, 𝑇) depending on the initial data, where 𝑇 is 

 > 0, 𝑛 = 3  

∃𝑢0(𝑥): ℝ3   smooth (𝐶∞), divergence-free (∇ ∙ 𝑢0 = 0)  

∃𝑓(𝑥, 𝑡): ℝ3 × [0, ∞)  smooth (𝐶∞)  

(4) |𝜕𝑥
𝛼𝑢0(𝑥)| ≤ 𝐶𝛼𝐾(1 + |𝑥|)−𝐾: ℝ3, ∀𝛼, 𝐾 

(5) |𝜕𝑥
𝛼𝜕𝑡

𝑚𝑓(𝑥, 𝑡)| ≤ 𝐶𝛼𝑚𝐾(1 + |𝑥| + 𝑡)−𝐾: ℝ3 × [0, ∞) , ∀𝛼, 𝑚, 𝐾  

∄(𝑝, 𝑢): ℝ3 × [0, ∞) /  

(1) 
𝜕𝑢𝑖

𝜕𝑡
+ ∑ 𝑢𝑗

𝜕𝑢𝑖

𝜕𝑥𝑗
=  ∇2𝑢𝑖 −

𝜕𝑝

𝜕𝑥𝑖
+ 𝑓𝑖(𝑥, 𝑡), 1 ≤ 𝑖 ≤ 3  (𝑥 ∈ ℝ3, 𝑡 ≥ 0)3

𝑗=1   

(2) ∇ ∙ 𝑢 = 0 

(3) 𝑢(𝑥, 0) = 𝑢0(𝑥) (𝑥 ∈ ℝ3) 

(6) 𝑝, 𝑢 ∈ 𝐶∞(ℝ3 × [0, ∞)) 

(7) ∫ |𝑢(𝑥, 𝑡)|2𝑑𝑥 < 𝐶,
ℝ3  ∀𝑡 ≥ 0  (bounded energy) 
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called “blowup time”. When there is a solution with finite 𝑇 then the velocity 𝑢 

becomes unbounded near the “blowup time”.  

 We see that the existence of our solution in the given example is guaranteed 

by construction and direct substitution. Our velocity has no irregular behavior, any 

regularity loss, at no time 𝑡, in none position, that becomes unlimited, infinite, even 

for 𝑡 → ∞ or |𝑥| → ∞, therefore, there can be no "blowup time" in the example we 

gave, therefore the solution found in the previous case is unique at all times 

(unless pressure). But even if there were a finite 𝑇 (in [10], [11] we see that 𝑇 >

0), the uniqueness would exist in at least a small interval of time, which is enough 

to show that in this time range occurs the breakdown of Navier-Stokes solutions 

because it was disobeyed limited kinetic energy condition (7), making the case (C) 

true. 

 Although only exposed one case possible for infinite energy occurring at 

𝑡 > 0, when the velocity 𝑢 takes the form 𝑢(𝑥, 𝑡) = 𝑢0(𝑥)𝑒−𝑡 + 𝑣(𝑡), cases more 

generally of velocities 𝑣(𝑥, 𝑡) dependent explicitly the spatial coordinates 𝑥1, 𝑥2, 𝑥3 

probably occur also, with 𝑣(𝑥, 𝑡) a vector, 𝑣(𝑥, 0) = 0, as well as the velocities of 

the form 𝑢(𝑥, 𝑡) = 𝑢0(𝑥)𝑣(𝑥, 𝑡), with 𝑣(𝑥, 𝑡) a scalar function, 𝑣(𝑥, 0) = 1, or also 

other possible velocities 𝑢(𝑥, 𝑡). A large and important research in Analysis, 

Mathematical Physics and Applied Mathematics (e.g. [1], [10]-[15]). 

 

 Grateful to Professor Ricardo Rosa of the UFRJ University, mathematical 

expert on the Navier-Stokes equations, who explained to me about the case 𝛼 = 0 

and its nature of multi-index. 
⎕ 
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Breakdown of Navier-Stokes Solutions – Unbounded Energy for t > 0 
Valdir Monteiro dos Santos Godoi 

valdir.msgodoi@gmail.com 

 

Abstract – A solution to the 6th millenium problem, respect to breakdown of 

Navier-Stokes solutions and the bounded energy. We have proved that there are 

initial velocities 𝑢0(𝑥) and forces 𝑓(𝑥, 𝑡) such that there is no physically reasonable 

solution to the Navier-Stokes equations for 𝑡 > 0, which corresponds to the case 

(C) of the problem relating to Navier-Stokes equations available on the website of 

the Clay Institute.  

Keywords – Navier-Stokes equations, continuity equation, breakdown, existence, 

smoothness, physically reasonable solutions, gradient field, conservative field, 

velocity, pressure, external force, bounded energy, millenium problem. 

§ 1 

 A maneira mais simples que vejo para se provar a quebra de soluções 

(breakdown solutions) das equações de Navier-Stokes, seguindo o descrito em [1], 

refere-se à condição de energia limitada (bounded energy), a finitude da integral 

do quadrado da velocidade do fluido em todo o espaço. 

 Podemos certamente construir soluções de  

(1) 
𝜕𝑢𝑖

𝜕𝑡
+ ∑ 𝑢𝑗

𝜕𝑢𝑖

𝜕𝑥𝑗
=  ∇2𝑢𝑖 −

𝜕𝑝

𝜕𝑥𝑖
+ 𝑓𝑖 ,3

𝑗=1  1 ≤ 𝑖 ≤ 3, 

que obedeçam à condição de divergente nulo para a velocidade (equação da 

continuidade para densidade de massa constante), 

(2) 𝑑𝑖𝑣 𝑢 ≡ ∇ ∙ 𝑢 = ∑
𝜕𝑢𝑖

𝜕𝑥𝑖

3
𝑖=1 = 0,      (fluidos incompressíveis)  

e à condição inicial 

(3) 𝑢(𝑥, 0) = 𝑢0(𝑥), 

onde 𝑢𝑖 , 𝑝,  𝑓𝑖 são funções da posição 𝑥 ∈ ℝ3  e do tempo 𝑡 ≥ 0, 𝑡 ∈ ℝ. A constante 

 ≥ 0 é o coeficiente de viscosidade, 𝑝 representa a pressão e 𝑢 = (𝑢1, 𝑢2, 𝑢3) é a 

velocidade do fluido, medidas na posição 𝑥 e tempo 𝑡, com ∇2= ∇ ∙ ∇= ∑
𝜕

2

𝜕𝑥𝑖
2

3
𝑖=1 . A 

função 𝑓 = (𝑓1, 𝑓2, 𝑓3)   tem dimensão de aceleração ou força por unidade de massa, 

mas seguiremos denominando este vetor e suas componentes pelo nome genérico 

de força, tal como adotado em [1]. É a força externa aplicada ao fluido, por 

exemplo, gravidade. 

 As funções 𝑢0(𝑥) e 𝑓(𝑥, 𝑡) devem obedecer, respectivamente, 

mailto:valdir.msgodoi@gmail.com
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(4) |𝜕𝑥
𝛼𝑢0(𝑥)| ≤ 𝐶𝛼𝐾(1 + |𝑥|)−𝐾 sobre ℝ3, para quaisquer 𝛼 ∈ ℕ0

3 e 𝐾 ∈ ℝ, 

e 

(5) |𝜕𝑥
𝛼𝜕𝑡

𝑚𝑓(𝑥, 𝑡)| ≤ 𝐶𝛼𝑚𝐾(1 + |𝑥| + 𝑡)−𝐾 sobre ℝ3 × [0, ∞), para 

quaisquer 𝛼 ∈ ℕ0
3, 𝑚 ∈ ℕ0 e 𝐾 ∈ ℝ, 

com ℕ0 = {0,1,2,3, … } (derivadas de ordem zero não alteram o valor da função), e 

uma solução (𝑝, 𝑢) de (1) para que seja considerada fisicamente razoável deve ser 

contínua e ter todas as derivadas, de infinitas ordens, também contínuas (smooth), 

i.e., 

(6) 𝑝, 𝑢 ∈ 𝐶∞  (ℝ3 × [0, ∞)). 

 Dada uma velocidade inicial 𝑢0 de classe 𝐶∞ com divergente nulo 

(divergence-free, ∇ ∙ 𝑢0 = 0) sobre ℝ3 e um campo de forças externo 𝑓 também de 

classe 𝐶∞ sobre ℝ3 × [0, ∞), quer-se, para que uma solução seja fisicamente 

razoável, além da validade de (6), que 𝑢(𝑥, 𝑡) não divirja para |𝑥| → ∞ e seja 

satisfeita a condição de energia limitada (bounded energy), i.e., 

(7) ∫ |𝑢(𝑥, 𝑡)|2𝑑𝑥 < 𝐶,
ℝ3  para todo 𝑡 ≥ 0. 

 Vemos que todas as condições acima, de (1) a (7), precisam ser obedecidas 

para se obter uma solução (𝑝, 𝑢) considerada fisicamente razoável, contudo, para 

se obter uma quebra de soluções, (1), (2), (3), (6) ou (7) poderiam não ser 

satisfeitas para algum 𝑡 ≥ 0, em alguma posição 𝑥 ∈ ℝ3, mantendo-se ainda a 

validade de (4) e (5). 

 Uma maneira de fazer com que esta situação (breakdown) ocorra é quando 

(1) não tem solução possível para a pressão 𝑝(𝑥, 𝑡), quando o campo vetorial 

𝜙: ℝ3 × [0, ∞) → ℝ3 em 

(8) ∇𝑝 = 𝜈 ∇2𝑢 −
𝜕𝑢

𝜕𝑡
− (𝑢 ∙ ∇)𝑢 + 𝑓 = 𝜙 

é não gradiente, não conservativo, em ao menos um (𝑥, 𝑡) ∈ ℝ3 × [0, ∞). Nesse 

caso, para 𝜙 = (𝜙1, 𝜙2 , 𝜙3) ser não gradiente deve valer 

(9) 
𝜕𝜙𝑖

𝜕𝑥𝑗
≠

𝜕𝜙𝑗

𝜕𝑥𝑖
, 𝑖 ≠ 𝑗, 

para algum par (𝑖, 𝑗), 1 ≤ 𝑖, 𝑗 ≤ 3, 𝑥 ∈ ℝ3 e tempo 𝑡 não negativo (para mais 

detalhes veja, por exemplo, Apostol[2], cap. 10).    

 Se admitirmos, entretanto, que (1) tem solução (𝑝, 𝑢) possível e esta 

também obedece (2), (3) e (6), a condição inicial 𝑢0(𝑥) verifica (2) e (4), a força 

externa 𝑓(𝑥, 𝑡) verifica (5) e 𝑢0(𝑥) e 𝑓(𝑥, 𝑡) são de classe 𝐶∞, podemos tentar obter 
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a condição de quebra de soluções em 𝑡 ≥ 0 violando-se a condição (7) de energia 

limitada (bounded energy), i.e., escolhendo-se 𝑢0(𝑥) ou 𝑢(𝑥, 𝑡) que também 

obedeçam a 

(10) ∫ |𝑢(𝑥, 𝑡)|2𝑑𝑥 → ∞,
ℝ3  para algum 𝑡 ≥ 0.  

 A descrição oficial do problema para este caso (C) de quebra de soluções é 

dada a seguir: 

(C) Quebra das soluções da Equação de Navier-Stokes sobre ℝ𝟑. Para  > 0 e 

dimensão espacial 𝑛 = 3 existem um campo vetorial suave e com divergência nula 

𝑢0(𝑥) sobre ℝ3 e uma força externa suave 𝑓(𝑥, 𝑡) sobre ℝ3 × [0, ∞) satisfazendo 

(4) |𝜕𝑥
𝛼𝑢0(𝑥)| ≤ 𝐶𝛼𝐾(1 + |𝑥|)−𝐾 sobre ℝ3, ∀𝛼, 𝐾,  

e 

(5) |𝜕𝑥
𝛼𝜕𝑡

𝑚𝑓(𝑥, 𝑡)| ≤ 𝐶𝛼𝑚𝐾(1 + |𝑥| + 𝑡)−𝐾 sobre ℝ3 × [0, ∞), ∀𝛼, 𝑚, 𝐾,  

tais que não existe solução (𝑝, 𝑢) sobre ℝ3 × [0, ∞) satisfazendo (1), (2), (3), (6) e 

(7). 

 

 Vê-se claramente que podemos resolver este problema buscando 

velocidades válidas cuja integral do seu quadrado em todo o espaço ℝ3 é infinito, 

ou também, conforme indicamos em (8), buscando funções 𝜙 não gradientes, onde 

a pressão 𝑝 não poderá ser considerada uma função potencial, para algum instante 

𝑡 ≥ 0.  Entendemos que os 𝛼, 𝑚 indicados em (4) e (5) só fazem sentido para 

|𝛼|, 𝑚 ∈ {0, 1, 2, 3, 4, … } e os 𝐾 negativos podem ser desprezados, pois não limitam 

o valor das funções 𝑢0, 𝑓 e suas derivadas quando |𝑥| → ∞ ou 𝑡 → ∞, com 

𝐶𝛼𝐾, 𝐶𝛼𝑚𝐾 > 0.    

§ 2 

 A inequação (4) traz implicitamente que 𝑢0(𝑥) deve pertencer ao espaço 

vetorial das funções de rápido decrescimento, que tendem a zero em |𝑥| → ∞, 

conhecido como espaço de Schwartz, 𝑆(ℝ3), em homenagem ao matemático 

francês Laurent Schwartz (1915-2002) que o estudou [3]. Estas funções e suas 

infinitas derivadas são contínuas (𝐶∞) e decaem mais rápido que o inverso de 

qualquer polinômio, tais que 

 

(11)  lim|𝑥|→∞|𝑥|𝑘𝐷𝛼𝜑(𝑥) = 0 

 

para todo 𝛼 = (𝛼1, … , 𝛼𝑛), 𝛼𝑖 inteiro não negativo, e todo inteiro 𝑘 ≥ 0. 𝛼 é um 

multi-índice, com a convenção 
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(12)  𝐷𝛼 =
𝜕|𝛼|

𝜕𝑥1

𝛼1  … 𝜕𝑥𝑛

𝛼𝑛 , |𝛼| = 𝛼1 + ⋯ + 𝛼𝑛, 𝛼𝑖 ∈ {0, 1, 2, … }.   

 

𝐷0 é o operador identidade, 𝐷𝛼  um operador diferencial. Um exemplo de função 

deste espaço é 𝑢(𝑥) = 𝑃(𝑥)𝑒−|𝑥|2
, onde 𝑃(𝑥) é uma função polinomial.  

 Valem as seguintes propriedades [4]:      

1) 𝑆(ℝ𝑛) é um espaço vetorial; ele é fechado sobre combinações lineares. 

2) 𝑆(ℝ𝑛) é uma álgebra; o produto de funções em 𝑆(ℝ𝑛) também pertence a 

𝑆(ℝ𝑛). 

3) 𝑆(ℝ𝑛) é fechado sobre multiplicação por polinômios. 

4) 𝑆(ℝ𝑛) é fechado sobre diferenciação. 

5) 𝑆(ℝ𝑛) é fechado sobre translações e multiplicação por exponenciais complexos 

(𝑒𝑖𝑥∙𝜉). 

6) funções de 𝑆(ℝ𝑛) são integráveis: ∫ |𝑓(𝑥)|𝑑𝑥 < ∞
ℝ𝑛  para 𝑓 ∈ 𝑆(ℝ𝑛). Isto segue 

do fato de que |𝑓(𝑥)| ≤ 𝑀(1 + |𝑥|)−(𝑛+1) e, usando coordenadas polares, 

∫ (1 + |𝑥|)−(𝑛+1)𝑑𝑥 =
ℝ𝑛  𝐶 ∫ (1 + 𝑟)−𝑛−1 𝑟𝑛−1𝑑𝑟 < ∞

∞

0
, i.e., o integrando decresce 

como 𝑟−2 (e (1 + 𝑟)−2) no infinito e produz uma integral finita.   

 Da definição de 𝑆(ℝ3) e propriedades anteriores vemos que, como 

𝑢0(𝑥) ∈ 𝑆(ℝ3), então ∫ |𝑢0(𝑥)|𝑑𝑥
ℝ3 ≤ ∫ 𝑀(1 + |𝑥|)−4𝑑𝑥

ℝ3 ≤ 𝐶 ∫ (1 + 𝑟)−2 𝑑𝑟 < ∞
∞

0
 

e quadrando |𝑢0(𝑥)| e 𝑀(1 + |𝑥|)−4 chegamos à desigualdade ∫ |𝑢0(𝑥)|2𝑑𝑥 < ∞
ℝ3 , 

que contradiz (10).    

 Outra forma de verificar isso é que o conjunto 𝑆(ℝ𝑛) está contido em 

𝐿𝑝(ℝ𝑛) para todo 𝑝, 1 ≤ 𝑝 < ∞ ([5]-[9]), e em particular para 𝑝 = 2 e 𝑛 = 3 segue 

a finitude de ∫ |𝑢0(𝑥)|2𝑑𝑥
ℝ3 .  

 Portanto, se a condição (7) for desobedecida, conforme propomos neste 

artigo, será para 𝑡 > 0, por exemplo, encontrando alguma função 𝑢(𝑥, 𝑡) da forma 

𝑢0(𝑥)𝑣(𝑥, 𝑡), 𝑣(𝑥, 0) = 1, ou 𝑢0(𝑥) + 𝑣(𝑥, 𝑡), 𝑣(𝑥, 0) = 0, com ∫ |𝑣(𝑥, 𝑡)|2𝑑𝑥
ℝ3 → ∞ 

e ∫ |𝑢(𝑥, 𝑡)|2𝑑𝑥
ℝ3 → ∞.  

§ 3 

 De fato, escolhendo 𝑢0(𝑥) ∈ 𝑆(ℝ3) e 𝑓(𝑥, 𝑡) ∈ 𝑆(ℝ3 × [0, ∞)), obedecendo-

se assim (4) e (5), lembrando-se que não precisamos ter 𝑢, 𝑝 ∈ 𝑆(ℝ3 × [0, ∞)) 

como solução, apenas 𝑢, 𝑝 ∈ 𝐶∞(ℝ3 × [0, ∞)), então é possível construir uma 

solução para a velocidade da forma 𝑢(𝑥, 𝑡) = 𝑢0(𝑥)𝑒−𝑡 + 𝑣(𝑡), com 𝑣(0) = 0, tal 
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que ∫ |𝑢(𝑥, 𝑡)|2𝑑𝑥
ℝ3 → ∞, pois, quando ∫ [|𝑢0(𝑥)|2𝑒−𝑡 + 2𝑢0(𝑥) ∙ 𝑣(𝑡)]𝑑𝑥

ℝ3 ≥ 0, por 

exemplo, quando cada componente de 𝑢0(𝑥) tem o mesmo sinal da respectiva 

componente de 𝑣(𝑡) ou o produto entre elas é zero ou ∫ 𝑢0(𝑥) ∙ 𝑣(𝑡)𝑑𝑥
ℝ3 ≥ 0, 

teremos  ∫ |𝑢(𝑥, 𝑡)|2𝑑𝑥
ℝ3 ≥ ∫ |𝑣(𝑡)|2𝑑𝑥

ℝ3 = |𝑣(𝑡)|2 ∫ 𝑑𝑥 → ∞
ℝ3 , com 𝑣(𝑡) ≠ 0, 𝑡 > 0. 

Também devemos escolher 𝑢, 𝑢0 tais que ∇ ∙ 𝑢 = ∇ ∙ 𝑢0 = 0. 

 Em especial, escolhamos, para 1 ≤ 𝑖 ≤ 3,   

  

(13.1)  𝑢0(𝑥) = 𝑒−(𝑥1
2+𝑥2

2+𝑥3
2)(𝑥2𝑥3, 𝑥1𝑥3, −2𝑥1𝑥2), 

(13.2)  𝑣𝑖(𝑡) = 𝑤(𝑡) = 𝑒−𝑡(1 − 𝑒−𝑡), 

(13.3)  𝑢𝑖(𝑥, 𝑡) = 𝑢𝑖
0(𝑥)𝑒−𝑡 + 𝑣𝑖(𝑡), 

(13.4)  𝑓𝑖(𝑥, 𝑡) = (−𝑢𝑖
0 + 𝑒−𝑡 ∑ 𝑢𝑗

0 𝜕𝑢𝑖
0

𝜕𝑥𝑗
+ ∑ 𝑣𝑗

3
𝑗=1

3
𝑗=1

𝜕𝑢𝑖
0

𝜕𝑥𝑗
− 𝜈∇2𝑢𝑖

0) 𝑒−𝑡, 

  

o que resulta para 𝑝(𝑥, 𝑡), como a única incógnita ainda a determinar,  

 

(14)  ∇𝑝 +
𝜕𝑣

𝜕𝑡
= 0, 

 

e então 

 

(15)   𝑝(𝑥, 𝑡) = −
𝑑𝑤

𝑑𝑡
(𝑥1 + 𝑥2 + 𝑥3) + 𝜃(𝑡). 

 

A pressão obtida tem uma dependência temporal genérica 𝜃(𝑡), que deve ser de 

classe 𝐶∞([0, ∞)) e podemos supor limitada, e diverge no infinito (|𝑥| → ∞), mas 

tenderá a zero em todo o espaço com o aumento do tempo (a menos 

eventualmente de 𝜃(𝑡)), devido ao fator 𝑒−𝑡 que aparece na derivada de 𝑤(𝑡), 

 

(16)  
𝑑𝑤

𝑑𝑡
= 𝑒−𝑡(2𝑒−𝑡 − 1). 

 

 Neste exemplo ∫ 𝑢0(𝑥) ∙ 𝑣(𝑡)𝑑𝑥
ℝ3 = 0, e assim ∫ |𝑢(𝑥, 𝑡)|2𝑑𝑥

ℝ3 → ∞ para 

𝑡 > 0, como queríamos. Mais simples ainda seria escolher 𝑢0(𝑥) = 0.  

 Interessante observarmos que não ocorre nenhuma descontinuidade na 

velocidade, nem singularidade (divergência: |𝑢| → ∞), entretanto a energia 

cinética total em todo o espaço diverge, ∫ |𝑢|2
ℝ3 𝑑𝑥 → ∞. Tivemos como dados de 

entrada 𝑢0 ∈ 𝐿2(ℝ3), 𝑓 ∈ 𝐿2(ℝ3 × [0, ∞)), mas por solução 𝑢 ∉ 𝐿2(ℝ3 × [0, ∞)), 

assim como 𝑝 ∉ 𝐿2(ℝ3 × [0, ∞)). 

§ 4 

 Nosso exemplo obedece às condições de divergência nula (divergence-free, 

∇ ∙ 𝑢0 = 0), suavidade (smoothness, 𝐶∞) e derivadas parciais de 𝑢0 e 𝑓 da ordem 
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de 𝐶𝛼𝐾(1 + |𝑥|)−𝐾 e 𝐶𝛼𝑚𝐾(1 + |𝑥| + 𝑡)−𝐾, respectivamente. Concluímos que deve 

ser 𝑢0 ∈ 𝑆(ℝ3) e 𝑓 ∈ 𝑆(ℝ3 × [0, ∞)). Para cada 𝑢(𝑥, 𝑡) possível tal que (3) seja 

verdadeira, a força externa 𝑓(𝑥, 𝑡) e a pressão 𝑝(𝑥, 𝑡) podem ser convenientemente 

construídas, na classe 𝐶∞, verificando (8), e de modo a satisfazerem todas as 

condições necessárias, encontrando-se assim uma solução possível para (1), (2), 

(3), (4), (5) e (6), e apenas (7) não seria satisfeita, para 𝑡 > 0, conforme (10). 

Mostramos então um exemplo de quebra de soluções para o caso (C) deste 

problema do milênio. Este exemplo, entretanto, não leva ao caso (A) de [1], de 

existência e suavidade das soluções, justamente por violar (7) (O caso (A) também 

impõe que seja nula a força externa,  𝑓 = 0).  

 Um resumo das condições do problema está listado abaixo. 

 

 

 

 

 

 

 

 

 

 

 

 

 É importante analisarmos também a questão da unicidade das soluções. 

Como 𝑢0(𝑥) e 𝑓(𝑥, 𝑡) são dados, escolhidos por nós, de classe 𝐶∞ e satisfazendo (4) 

e (5), i.e., pertencentes ao espaço de Schwartz, com ∇ ∙ 𝑢0 = 0, afirmar que não 

existe solução (𝑝, 𝑢) para o sistema (1), (2), (3), (6) e (7) pode pressupor que 

exploramos, ou provamos para, as infinitas combinações possíveis de 𝑝 e de 𝑢, i.e., 

de (𝑝, 𝑢). Sendo assim, precisamos que haja unicidade de solução para cada 

velocidade que construímos, o que elimina outras velocidades possíveis para os 

mesmos dados utilizados, 𝑢0(𝑥) e 𝑓(𝑥, 𝑡), e que implicassem em energia cinética 

total finita.  

 A unicidade da solução (a menos da pressão 𝑝(𝑥, 𝑡) com o termo adicional 

constante ou dependente do tempo) vem dos resultados clássicos já conhecidos, 

 > 0, 𝑛 = 3  

∃𝑢0(𝑥): ℝ3   smooth (𝐶∞), divergence-free (∇ ∙ 𝑢0 = 0) 

∃𝑓(𝑥, 𝑡): ℝ3 × [0, ∞)  smooth (𝐶∞)  

(4) |𝜕𝑥
𝛼𝑢0(𝑥)| ≤ 𝐶𝛼𝐾(1 + |𝑥|)−𝐾: ℝ3, ∀𝛼, 𝐾 

(5) |𝜕𝑥
𝛼𝜕𝑡

𝑚𝑓(𝑥, 𝑡)| ≤ 𝐶𝛼𝑚𝐾(1 + |𝑥| + 𝑡)−𝐾: ℝ3 × [0, ∞) , ∀𝛼, 𝑚, 𝐾  

∄(𝑝, 𝑢): ℝ3 × [0, ∞) /  

(1) 
𝜕𝑢𝑖

𝜕𝑡
+ ∑ 𝑢𝑗

𝜕𝑢𝑖

𝜕𝑥𝑗
=  ∇2𝑢𝑖 −

𝜕𝑝

𝜕𝑥𝑖
+ 𝑓𝑖(𝑥, 𝑡), 1 ≤ 𝑖 ≤ 3  (𝑥 ∈ ℝ3, 𝑡 ≥ 0)3

𝑗=1   

(2) ∇ ∙ 𝑢 = 0 

(3) 𝑢(𝑥, 0) = 𝑢0(𝑥) (𝑥 ∈ ℝ3) 

(6) 𝑝, 𝑢 ∈ 𝐶∞(ℝ3 × [0, ∞)) 

(7) ∫ |𝑢(𝑥, 𝑡)|2𝑑𝑥 < 𝐶,
ℝ3  ∀𝑡 ≥ 0  (bounded energy) 
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descritos por exemplo no mencionado artigo de Fefferman [1]: o sistema das 

equações de Navier-Stokes (1), (2), (3) tem solução única para todo 𝑡 ≥ 0 ou 

apenas para um intervalo de tempo [0, 𝑇) finito dependente dos dados iniciais, 

onde 𝑇 é chamado de “blowup time”. Quando há uma solução com 𝑇 finito então a 

velocidade 𝑢 torna-se ilimitada próxima do “blowup time”.  

 Vemos que a existência de nossa solução, no exemplo dado, está garantida 

por construção e substituição direta.  Nossa velocidade não apresenta nenhum 

comportamento irregular, em instante 𝑡 algum, em posição alguma, que a torne 

ilimitada, infinita, nem mesmo para 𝑡 → ∞ ou |𝑥| → ∞, sendo assim, não pode 

haver o “blowup time” no exemplo que demos, portanto a solução encontrada no 

caso anterior é única em todo tempo (a menos da pressão). Mas ainda que 

houvesse um 𝑇 finito (em [10], [11] vemos que 𝑇 > 0), a unicidade existiria em 

pelo menos um pequeno intervalo de tempo, o que já é suficiente para mostrar que 

neste intervalo ocorre a quebra das soluções de Navier-Stokes por ser 

desobedecida a condição de energia cinética limitada (7), tornando o caso (C) 

verdadeiro. 

 Embora só tenhamos exposto um caso possível para ocorrência de energia 

infinita em 𝑡 > 0, quando a velocidade 𝑢 toma a forma 𝑢(𝑥, 𝑡) = 𝑢0(𝑥)𝑒−𝑡 + 𝑣(𝑡), 

casos mais gerais de velocidades 𝑣(𝑥, 𝑡) dependentes explicitamente das 

coordenadas espaciais 𝑥1, 𝑥2, 𝑥3 provavelmente ocorram também, 𝑣(𝑥, 𝑡) um vetor 

com 𝑣(𝑥, 0) = 0, assim como para as velocidades da forma 𝑢(𝑥, 𝑡) = 𝑢0(𝑥)𝑣(𝑥, 𝑡), 

sendo 𝑣(𝑥, 𝑡) uma função escalar com 𝑣(𝑥, 0) = 1, ou ainda outras possíveis 

velocidades 𝑢(𝑥, 𝑡). Uma vasta e importante pesquisa em Análise, Física-

Matemática e Matemática Aplicada (por exemplo, [1], [10]-[15]).  

 

 Grato ao professor Ricardo Rosa da UFRJ, matemático especialista nas 

equações de Navier-Stokes, que me explicou sobre o caso 𝛼 = 0 e sua natureza de 

multi-índice.  
⎕ 
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